UKA TARSADIA UNIVERSITY

B.Pharm. (1st Semester)
Subject:030020105-Elementary (Remedial) Mathematics (NEW)

Time :10:00 am to 1:00 pm Date : 30/12/2013
Duration : 3 Hours Max. Marks : 70.
Instructions:

1. Attempt all questions.

2. Write each section in a separate answer book.

3. Make suitable assumptions wherever necessary.

4. Figures to the right indicate full marks allocated to that question.
5. Draw diagrams/figures whenever necessary.

SECTION -1

Q-1 (A) Do as directed. [07]
X =y
y xf
COSECK cotx
cotx COSECcK

I) Expand the following determinant |

1D Expand the following determinant |

IIT) Find the distance between the points
(3,-1) and (-2,4).

IV) Define symmetric matrix.
V) Evaluate lim,._, x + x + 1
VI) Given f and g such that f(x} = x* + 3 and glx) = cosx for x € R, determine gof and fog.

VII _n -2 -2 _-2 3 3
hiwa=[; 7 Fle=[y 5 3]thenfind3s—28.
Q-1 (B) Answer the following in brief. (Any 4) [08]

D) ea _2 -1 _ 43 5-y
Vita=Banda=[5 Jlana B=[T° )

2 6 4 2 4 0
4 4 B8|.BE=[4 3 5|findA+B.

3 -3 2 01
IIT) Find the point which divides the joining of A({—3.4)} and E(%.&) internally in the ratio 3:2.

] then find the value of x.¥. z. w.

1)
If4=

IV) Prove that the four points whose co-ordinates are (0,5), (-2, —2), (3,0} and (7,7)}form a rhombus.

Vv R £ —3x42
) Evaluate the limit lim,_; = s

1-co
V) Evaluate the limit l[mx_,[;.—zﬂ
x
Q-2 Answer the following. [10]
A) 1 2 -1 2 -1 3
LetA=|3 5 6|andE=|0 8 7
o1 z 3 1 2z

1. (AB)T =BTAT
2.(A+B)T=AT +B7.
OR
A) Find the equation of locus of point such that the sum of its distance from £0.3) and (0. —3) is 8.

B) Given that f{x)} = 4x — 3 and glx)} = x* for allx € R, find the following:
gof(x) ,fog(x),fof (x), gog(x)

OR

B) Solve the following system of equation using Cramer’s rule:
ox—Ty+z=11, Bx — 8y —z = 135, dx+dy—6y=7



Q-3 Answer the following in detail. (Any 2)

A) 2 2 3 2 1 2 3 4 2 -1 4 5
IfA=|3 1 2 0|B=|lo0 1 0 3|,andC=[-1 2 1 7|, Evaluate A+2B+C.
3 4 1 3 00168 -1 -3 0 9
B) Evaluate the limits; 1) limx_,:::ri_::,:":
WE—vE
. COEECX—COLX
2)lim, , 5
1 5 2
C) IfA=|2 -2 1|then prove that (adjd) = A,
1 1 2
SECTION -2

Q-4 (A) Do as directed.
D Find ; (l)is:'nr (2} i{ugx
II) Prove that cosdx = 1 — 8sin®xeos®x
M) Convert -1: to degree Measure
IV) Differentiate tan3x".
V) Find ; (1) [ ¢*dx, 2) [ a*dx,
VD) Find%when y = loglmx +¢)
VII) Find the value of cos?43° — sin® 15°
Q-4 (B) Answer the following in brief. (Any 4)
I) Find the value of sin73*%,cos 157

) Find the derivative of e* logx.

COBEC” X

1) Integrate: I

L+cotx
V) Integrate: f;j dx

V) Find the value of 5inl05% and cos1057,

VD) Find the derivative of % with respect to x.

Q-5 Answer the following.

T X I :2 x
A) Prove that , [Vat — ldx = Ex-"a.z -2+ ?s:'n'l -+clxl2a

OR
A) Prove that e tan (4‘5: + ﬂ).
1—zind 2
B) Prove that cos 6® cos 42° cos 66° cos 78° = i
OR
B) 1fx = alt + sint) and y = a(1 — cost) find ST at ¢ = =

Q-6 Answer the following in detail. (Any 2)

- dy
A) 1t v = I_ﬂand}' = xsinx. find —J'.
SNy +x dx
B) FIRXCOSX OX
Integrate "r olpin® x4 b eoelx
C) IfA +E +C = m, prove that sin24 — sin2B + sin2C = 4 cosA sink cosC
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